Salary Accounting in Turkey

I- Gross Salary: 

It is the amount of salary earned by employees according to Labor Law. This amount is earned but not received totally by the employees because of the deductions, which should be calculated and paid by the employers on behalf of the employees. The employer is responsible and liable to deduct them from the gross salary and pay these deducted amounts to the related authorities according to the payment terms of each deduction. These deductions are actually paid by the employees and the employers are just the intermediate parties used to make the transactions easier both for employees and government. The mentioned deductions are income and stamp tax, the employee's share of social security premium and unemployment insurance.














( Gross Salary = Net Salary + Social Security Premium (Employee's Share) + Unemployment Insurance (Employee's Share) + Income Tax + Stamp Tax







II- Net Salary:

In other words, the employee receives only net salary, which is the remaining part of gross salary after the below mentioned deductions.








( Net Salary = Gross Salary - Social Security Premium (Employee's Share) - Income Tax - Stamp Tax - Unemployment
Insurance (Employee's Share)









In addition to the gross salary, employer must pay the employer's share of social security premium and unemployment insurance for the employee. Therefore, total cost of employee to the employer shall be more than the gross salary of employee for the difference of employer's shares of mentioned deductions.

III- Total Cost of Employee to Employer:
( Total Cost of Employee to Employer = Gross Salary + Social Security Premium (Employer's Share) + Unemployment
 Insurance (Employer's Share)







IV-Social Security Premium:

It is based on the gross salary and total social security premium is 33.5% of gross salary.14% of total is deducted from the gross salary as employee's share and 19.5% of gross salary is calculated additionally as the employer's contribution and total is paid by the employer until the end of following month. In the calculation of premium, there are minimum and maximum based amounts determined by the government and revalued according to inflation. If gross salary is less than minimum amount, minimum based amount should be considered in the calculation of premium instead of gross salary and if the gross salary is more than the maximum ceiling, then maximum ceiling amount is considered as the based amount in the calculation of premium instead of gross salary.








( Social Security Premium (Employee's Share) = 14. -  % of Gross Salary



( Social Security Premium (Employer's Share) = 19.5 % of Gross Salary



( Social Security Premium (Total) = 33.5 % of Gross Salary








IV- Unemployment Insurance: 

It is based on the salary subject to social security premium and the total amount is 3% of gross salary.1% of total is deducted as the employee's share and 2% is calculated additionally as the employer's contribution. The employer pays the total amount until the end of following month together with the SSK premiums mentioned above. The maximum and minimum-based amounts in the calculation of Social Security Premiums are also valid for the calculation of unemployment insurance.
( Unemployment Insurance (Employee's Share) = 1 % of Gross Salary

( Unemployment Insurance (Employer's Share) = 2 % of Gross Salary

( Unemployment Insurance (Total) = 3 % of Gross Salary






V- Income Tax:










It is the amount of tax, which should be paid by employee because of the salary income. Employee's Salary Income is subject to income tax and employer is responsible and liable to deduct, withheld and pays them to tax office on behalf of
employee until 20th of following month. If the employer has less than 10 employees, then the tax can be paid quarterly instead of monthly. The based amount of income tax is the remaining amount of gross salary after the deduction of amounts exempt from income tax which are the employee's share of social security and that of unemployment insurance.







( Income Tax Base Amount = Gross Salary - Social Security Premium (Employee's Share) - Unemployment Insurance (Employee's Share)








The above mentioned income shall be subject to income tax at a rate of 15% if the cumulative salary is between 0 and 9,400 TL. As the cumulative salary increases, accordingly, the applied tax rate shall increase up to the rate of 35 %.








( Income Tax = Income Tax Base Amount * Income Tax Rate (%)





VI- Stamp Tax:

 This is based on the gross salary and paid by employee from the gross salary. The rate of tax is 0.6 %. This tax should be declared and paid to tax office together with the income tax within the same time limits.








( Stamp Tax = Gross Salary * Stamp Tax Rate (0.60 %)


